


WHAT IS IN THE PACKAGE?

7. Anti-Vibration
Grommets

4. SS M6
Bolts

6. M6 Washers5. M6 Nyloc
Nuts

3. SS Fork Bolts

1. Left Bracket

2. Right Bracket



Step 1:
Remove the OEM Visor



FASTENERS:
STEP 1: Install the top brackets

Top Mounting Bracket
(Left) - CR3PSSADV-PT03

Nylon Spacers
(CR3PSSADV-PT08)

M8 PLATED BOLTS 
(CR3PSSADV-PT09) 

Pillion Handle
Reference Part

Step 2:
Gently push the windshield
studs in the rubber housing



Step 2: Install Side Stays

M8 BOLTS – STAINLESS STEEL 
BUTTONHEAD (CR3PSSADV-PT05)

ALUMINIUM HOLE INSERTS
(CR3PSSADV-PT06)

M8 NYLOC NUTS 
(CR3PSSADV-PT07)

NYLON STAY PART 
(CR3PSSADV-PT01)

TOP MOUNTING BRACKETS 
(CR3PSSADV-PT03)

Repeat Step 
on the right side too

Step 3:
Fasten the stock screws



T1
T2 T3 T4 T5 T6 T7

T8
Left Side

Use Holes T3 and T5 
for the Top Bracket 
Connection 
(CR3PSSADV-PT03)

B1

B2 B3 B4 B5 B6 B7 B8 B9

B10

Connect Short Base Bracket 
(CR3PSSADV-PT04) To B1

Connect Large Base Bracket 
(CR3PSSADV-PT02) To B5 & B7

Step 4:
- First insert Anti-Vibration Grommets into the 

designated windshield holes.

- Align the left bracket over the grommets and insert the 
bolts from the front side along with M6 washers

- Then use the Nyloc Nuts and slightly fasten them. 
Make sure it is not completely tight



Step 5:
- Remove the stock Fork Bolts.

- Align the left bracket over the fork bolt hole and use 
the replacement fork bolt from the package.

- Slowly tighten the fork bolt and then completely 
tighten the windshield bolts. 

- If installed right, there wont be any stress on the 
windshield or the forks. 

- Repeat the steps on the right bracket.



Step 6:

- Slowly tighten the fork bolt and then completely 
tighten the windshield bolts. 

- If installed right, there wont be any stress on the 
windshield or the forks. 

- Repeat the steps on the right bracket.



That’s All…….

Be ready to experience the long journeys 
Like never before




